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class TwoToPowerOf extends Thread{
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class Assignments11_1{
public static void main(String[] args){
/] BIRL Y FEERTT
TwoToPowerOf ttb=new TwoToPowerOf().
ttp.start();
/] XA VALY RIETTTRNHOD
System.out.printin("BRERFTHIZE0, )
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class Fibonacci extends Thread
{
private int v1=1, v2=0, v3;
private int n; // RHOEZWVNIE (1 UE)

/] ROZWBZIVZA RSO THE
public Fibonaccil(int i){
N=i,

}

/] BZBNIZIEBDD « M v FHEKRDD
public int getTerm({
for (int i=05iKn;i++){
v3=v1+v2,
v1=v2,
v2=v3;
}
return v3;

}

/] T14mMFTyvFEZERIRL v RTEHE
public void run(){
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class Assignment11_2{
public static void main(String[] args) throws IOException{
InputStreamReader isr=new InputStreamReader (System.in).
BufferedReader br=new BufferedReader (isr):

System.out.printin("2 « M F v FORDIZNBZAD LT ZE0), )
String str=br.readLinel);
int N=Integer.parselnt(str);
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import java.iox,
class Addition extends Thread
{
public void run(){
int num1=0,num2=0;

// F—IN— RDOEF
InputStreamBReader isr=new InputStreamReader (System.in);
BufferedReader br=new BufferedReader (isr);

/] 2 DDEHDAN
System.out.printin(” [H1&] 2 DOEHZEAD LT ZE0, 7):
try{
num1=Integer.parselnt(br.readLine());
num2=Integer parselnt(br.readLine()):
}catch (IOException el

}

// FERED

System.out.printin(hnum 1 +"+"+num2+"="+(num1+num?2));

}
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class Assignment11_4
{
public static void main(String[] args){
// BIZAL Y F&EZET
System.out.printin(" 2L v FZBBIE LE T, ):
Addition add=new Addition();
add.start();

/] XA YA Y RIZCTTHERNOD
System.outprintin(" X4 U XUy RERTULET, ),



